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GCSE Chinese (Spoken Mandarin) Listening Foundation Question 8

Xiaoli's future plans
Listen to Xiaoli talking about her plans.

Answer both parts of the question in English.

] m Where does she want to work? 4o 2

,/'r _j"’ r &y
[1 mark]
-[2] why?
SV | Ken l"/f'_j(-'\c'/t.ﬂ,'\c;}
' [1 mark]
Transcript
08 F2  ARBABEBIEITE, BAREREAH

Mark Scheme

Qu Accept

Mark

08.1 | in the library

08.2 | (She likes) reading
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GCSE Chinese (Spoken Mandarin) Listening Foundation Question 11-13

Xiaohai’s TV programme preferences
Your friend, Xiaohai, is telling you about TV programmes.
Answer in English.

Which TV programme does he prefer to watch ...

Example with his friends? cartoons
[ 1]1] after school? W
M Ukes 1o Uskn fo wusiC o Wis laplon
[1 mark]
ESFA at the weekend? i
e plavs Footholl marches
v [1 mark]
]IIE before the evening meal? .
have a showed
[1 mark]
Transcript
Example ML RERRIMAMN—EZEFH S A
11 ML HKFUE, REXRECALEF R,
12 M1 B RBEE, RERKILE,
13 ML BRIRART, KA R AR
Mark Scheme
Qu Accept Reject Mark
11 | music (concerts) 1
Qu Accept Reject Mark
12 | sports / football (matches) 1
Qu Accept Reject Mark
13 | weather (forecast) 1
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GCSE Chinese (Spoken Mandarin) Listening Foundation Question 14-15

Helping at a Shanghai restaurant
You have a holiday job in a restaurant in Shanghai and are taking orders.
Complete each customer’s order. Give two items.

Answer in English.

Example Chicken and fried rice
(1]4] . i
noodS awnd lolf
[2 marks]
egeladoy and  fgh
o ¥
[2 marks]
Transcript
Example F1 HER—DYRA, —WiR.
14 M2 RELHA, LEemAF,
15 F2 HKBE—Fafl—aHFE,
Mark Scheme
Qu Accept Reject Mark
beef=1
14 | noodles=1 2
(in any order)
Qu Accept Reject Mark
fish=1
15 | vegetables/greens=1 2
(in any order)
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GCSE Chinese (Spoken Mandarin) Listening Foundation Question 16

Volunteering in China
Your friend, Xiachong, wants to be a volunteer in her local community.

Answer both parts of the question in English.

; m Where would she prefer to be a volunieer?

[ yox S LLC\CJQ :

[1 mark]
-[2] wny?
Boconss 14 is Close 4o War howe
[1 mark]
Transcript
16 F1 REFEE#MLL, BAXRESHERKL,
Mark Scheme
Qu Accept Mark
16.1 | hospital 1
16.2 | (itis) close to her home 1
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GCSE Chinese (Spoken Mandarin) Listening Foundation Question 19-20

School holidays

Two of your friends are chatting about school holidays.

What did they do before? What do they do now? What will they do in the future?

Complete the following grid in English.

[1]e]
Before i Now s 'Fulufe.
attended summer camp YAy Je
HAY
YA LAN LA
_~ [2 marks]
_
M 010 L. 204
Before ” . Now Future
td (‘* Fa V2N climb the Great Wall
g A Pou, e
v
[2 marks]
Transcript
19 M2 ART, REFAHAMELET; BRAAERERFTLE; AFRE
FARM B
20 F1 RO EERFD; RAEXRIEF ZF
T AF AT R ERK I
Mark Scheme
Qu Accept Reject Mark
19 Now: go to the mountains = 1 )
Future: go to Africa/see animals =1
Qu Accept Reject Mark
20 Before: (horse)riding / rode horse = 1 5
Now: skiing =1




AQAHY

Please turn over...
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GCSE Chinese (Spoken Mandarin) Listening Higher Tier — Question 9-11

School and teachers
These students ars talking about their teachers.
For each subject, write in the box a reason why they like their teacher.

Answer in English.

Example Subject Reason
Music The teacher is a good singer.
-
Subject Reason NG xul Svung
English Iiev 40 Stu oevig)
[1 mark]
Subject Reason L el A Jile
See |
Maths €O A dviagre 5hﬂ3
[1 mark]
IIIII Subject Reason LA
Geoaravhy AL e
N Cl v
e N NC LT e

[1 mark]
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Transcript

Example M2 F R I B AR

09 F1  FEEMEHTFEERG A A
10 M1 FEIFORAEDSHT
11 F2  HEEWAKRMNGIELRS,

Mark Scheme

Qu Key idea Accept Reject Mark
09 | listens to the students any words in target language 1
any idea that it is the
students who listen to
teacher
Qu Key idea Accept Reject Mark
10 | (His/ her) lessons are not boring / tedious | any words in 1
interesting etc. target language
He is interesting
Qu Key idea Accept Reject Mark
11 | (He/she) does not give any words in target language 1

them (too) much
homework

He does not give them any
homework.
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GCSE Chinese (Spoken Mandarin) Listening Higher Tier — Question 15-20

Finding a job

During a visit to your Chinese partner school you listen to a clip of a careers
interview.

Write the answers to the questions in English.

EE What work experience does this person have?

{A)E §lipruy SPEVLL G v 0L
[1 mark]
f-klo__:_ 5
1 :':]: o N
| 1]6 ]|  Which foreign language does this person speak best?
T 3a QUL
CHAEFC  ¥AGAGGTIr:

[1 mark]

[1]7] What does this person say about his personality? ave) 2inen Bic v

Al () by buk ClLifn
[1 mark]
Which hobby does this person most enjoy?
IM}S} eciimg (niviese focok
J [1 mark]
Why does this person want to work for this company?
P IIlaéy T 1€ TN o Y
et —weReriC 0 40 VKA1 herd (es,
¥ [1 mark]

What does this parson wish for his own future?

a :
Wi el HCe1T C Fueag J

WOLE) {C b2 Al f:"L'lglv\ﬁl'-
[1 mark]
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Transcript

15

16

17

F1 Rt A 4 TAE?

ML  EFEB, KREBTHT—PMAGERTR.

F1 AR2WLINES?

M1 AR ERGE, TR KR BB EL,

F1 VLR A,

M1 RARRSE XA, BREIETZHFHAA

Mark Scheme

Qu Key idea Accept Reject Mark

15 shop assistant 1

Qu Key idea Accept Reject Mark

16 Japanese Mandarin and Japanese 1

Qu Key idea Accept Reject Mark

17 helps others helpful busy; or vague . 1
answers such as nice

Qu Key idea Accept Reject Mark

18 (learns to) cook (Chinese food) listening music or 1
skateboarding

Qu Key idea Accept Reject Mark

19 pays for university ;;oes 1o university 1

earns money
Qu Key idea Accept Reject Mark
20 become an engineer 1
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GCSE Chinese (Spoken Mandarin) Listening Higher Tier — Question 27-28

il
G
¥
" M

J_P}J =

Electronic reading devices

Listen to this Chinese radio phone-in programme where listeners are discussing the

advantages and disadvantages of electronic reading devices.
For each speaker write down one advantage and one disadvantage.

Answer in English.

Speaker 1
Advantage Disadvantage
4 Y\ k2 Y ey 7 “?:&li::-@u =k {Cy
e lf_\-)

vY\DR 5( YN\ r'T\-

Speaker 2

Advantage Disadvantage

7 deICm:m.:an_t'M "Wun de Ak Mol
N VAL A oS

I2 marks]

[2 marks]
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Transcript
27 F2 e RMRA ARG T, T BaEFik; EL KR AT H
Xt AR B N 4F o
28 ML AEETFHT AR AN FEFRERIT, HARRAAE, TUTE
FH; 2R A
F R, fEshm, wFHEFRESRFE,
Mark Scheme
Qu Key idea Accept Reject Mark
27 Advantage: give the Advantage: any 5
definition of the new words = idea about
1 definitions / new
Disadvantage: bad for your eyes words =1
Qu Key idea Accept Reject Mark

28 Advantage: e-books can
read aloud to you/You can
listen to e-books =1

Disadvantage: hard to read
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GCSE Chinese (Spoken Mandarin) Listening Higher Tier — Question 29-30

Example

Transcript

Example

29

30

~
w
Cycle lanes 72X

As part of a project on the environment you are listening to a report discussing cycle
lanes in cities,

Complete the sentences in English.

_ . ; feel safer
The advantage for cycle lanes is that it makes cyclists

Some people don'’t agree with cycle lanes and suggest ...

"L""';"'_""_” Vi ey iawvga

This is because too many cyclists will ...

L"("lt_'l’. W LJ;KL ¥ OoL) =) v I__"r'y 10 (T

ot [2 marks]

Some people are in favour of cycle lanes provided that ...

AL Yol w1t Cullu Koy

Mare cycle lanes will mean ...

ALY %"tﬁtl.';'n'; WALLAL O i)
LY

[2 marks]

F1 AITHEBILTATENARD 24,

FL TR, AEARERQITFE, RANEFIRT RIZAHNEA
F, BAKRZAW QT HFRILNH O FHRTFRIE.

F1 L AARA, R REAFHATE, AATFEARL—NIFE
E, PHHATEEALRT T ATIF L4,
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Mark Scheme

Qu Key idea Accept Reject Mark

only buses = 1 buses t.c.
slow down the traffic (or similar) =

Qu Key idea Accept Reject Mark

everyone cycles = 1

30 air (quality) (or similar) =1 2
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GCSE Chinese (Spoken Mandarin) Reading

Foundation Tier — Question 7

Poem

Below is an extract from a famous Chinese poem by Li Bai (Aages i) .

Answer the questions below in English.

Line 1: I R B AT,
Line 2: — & jE 18] v,
Line 3: 45 ¥ b AT B,
Line 4: M IERE o

.[1] Which animal is mentioned in Line 27

" El On which line is the character for ‘flower' used?

L

-

)

D WL
Ghok a0
[1 mark]
.[2] Which season is mentioned in Line 47
AVTum
[1 mark]
. [3] Whnich type of weather is mentioned in Line 47
[1 mark]

[1 mark]
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Mark

Qu

Scheme

Key idea

Accept

Reject

Mark

07.1

bird

07.2

Spring

07.3

wind

07.4

two

Rk |k |k
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GCSE Chinese (Spoken Mandarin) Reading Foundation Tier - Question 11

[1]1] Atschool

You receive this email from your Chinese pen-pal, Binbin.

.| From... [Binbin@amaiicn '“ ]
Reply Subject-; 2 g ‘

ARBRAR, BAFEIESE,

AR -

Iy

BENEHNEIF LA SR, SAELPE, SFR, -
|REREBERGHAD . AR, REFETAERELRE
I ARMEBRLELRKEHT. TALERZLR, 24

3

. What is Binbin's opinion about history?

She liltes & the :';f:.:x:.-:-}

[1 mark]
[1]1].[2] Whatdo the other students think of their English teacher?
T}JIIEL; Cq"rL e Xds /f)'f.r £ })ff:" '-_,//'}'j.i"?'?
7
[1 mark]
[1]1].[8] Why does Binbin love English?
& L( [ &) LA Cr ), :
4 [1 mark]
[1]1].[4] whatelse does Binbin think about her English class?
s horwg
i [1 mark]
Mark Scheme
Qu Accept Mark
11.1 | It's her favourite subject/She likes it (history) (the) most 1
11.2 | Too strict 1
11.3 | It's interesting/fun 1
11.4 | Itis (a bit) hard to study/(a bit) difficult 1
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Please turn over...
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GCSE Chinese (Spoken Mandarin) Reading Foundation Tier Translation

115| Yoursister's friend has shared the following post on WeChat. Your sister asks you to
translate it into English for her. Write in full sentences.

MG DER— NS, Wb SFiaE— Y
Tl ENEH A B MA—REAT Y, EREATFLYE
ART el

[9 marks]

We — have  Oue

Movie

Laj! Sadvr L’{‘;lj;/ /1’7;7 trend _ano [ weat  to

—

wat ch A povic. B&ff I 'ﬂ?oc-zy;{f 7%1—'
F

/ol ¢ LUOL)
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Mark Scheme

Chinese Translation Mark
HKAVEG 4R In our town 1
75]“"/]\97/‘3 5115] ‘:F' NN there is a shopping centre/mall. 1
WATJ ifé] ‘:F NN %’1& Next to the shopping centre/ mall, 1
ﬁ"/l\ %, %ﬁ % o there is a cinema. 1
15 | EANE 2RSS Last Saturday 1
é&ﬁﬁ AR A —#A2 my friends and | (me and my friends) 1
%75‘ T EE,,!%}O went to see a film/ movie. 1
18 2 XWiFe 2z But | thought the cinema/ movie tickets 1
j’\’ﬁ?“:‘ T o were too expensive/ dear. 1
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GCSE Chinese (Spoken Mandarin) Reading Higher Tier — Question 7

Dandan’s birthday party

Your Chinese cousin, Dandan, has written you a letter. Read this extract and answer the

following questions in English.

IAEBHMEARAR TS LR, KRG~
WFIMAMES LT HMEL DS, RMN—LTT—
BEEHWRE, T —EKERABRELT R &K
TR FeG R, RE%.

BT — AR KREH, KTARARAT
Lo WAL L BHEKIFC,

i II' When exactly was Dandan’s birthday?

Anek & :
| b5t Swna Lgxu}

[1 mark]
i @ Which sport did Dandan and her friends play together?
ol ' |
\vol\ L0 L):.L‘k\
- [1 mark]
. What kind of restaurant did they go to?
}\ Ii\'-.:'l":ﬁ (ﬁ‘-ﬁﬁ{’uh{:;\ m-L
=] [1 mark]

. EI What kind of cake did Dandan have for her birthday?

4 | |
L I_\_-J'\L.'_]{ G‘L"-"L Lﬁ_ (/'_\_]rl‘{e_

[1 mark]
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Mark Scheme

Qu Accept Mark
7.1 | last Sunday 1
7.2 | volleyball 1
7.3 | ltalian 1
7.4 | chocolate 1
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GCSE Chinese (Spoken Mandarin) Reading Higher Tier — Question 8

On the Stork Tower by Wang Zhihuan

Read the poem below and answer the questions in English.

Line1: & HAR LA,
Line 2: 3 7] A& iAo
Line3: K% T2 B,
Line4: £ F—E#k,

g In Line 1, which aspect of nature is mentioned? (One detail.)

|
O, notont ooy,

. E Where can you see the best view, according to the poem?

A | Where you are now

B | Climbing up

C | Moving to the right

[1 mark]
- @ In Line 2, what heads towards the sea?
a, Don If_,\
[1 mark]
.[3] How many Chinese miles are mentioned in Line 3?
8 mti'slk V-
[1 mark]

i1 mark]
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Mark Scheme

Qu Key idea Accept Reject Mark
8.1 | sun/mountain(s) (one from two) 1
8.2 | (Yellow) River/river 1
8.3 | 1000 one thousand 1
84 |B 1
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GCSE Chinese (Spoken Mandarin) Reading Higher Tier Translation

13| Yourbrother has seen this post on WeChat and asks you to franslate it for him info
English. Write in complete sentences.

. Bys sTop PLAY FOOTRALL
AT FRMAN—RARRMEHLBES LK, BAN
BRARGER, HASMN ST R4,
ak, &MBARARAEET, M0

[9 marks]

_ IN
ME AND MY FRIEND # 50 T0 A PAKKk NEAK THE StHooL TO PLAY FooTBALL.

A

WEHE ABLE
BECAUSE (N THE PAMK THEME If A Lor OF CPACE, SO WE AMEMBE To

KABBITS

NOW, we WILL GO To A PARK wHICH IS PHETTIER.




AQAHY

Mark Scheme

Chinese English Mark
’%‘Q r'{’F? r"’%&&}]ﬂ ﬁ”ﬁ | often (go) with my friends, 1
/t"— %’-L’*i Fﬁfﬁ,é@ /A\ to a park near to school 1
By R, to play football. 1
13 75 /f’iﬁlg El‘?: 7%/4%—4?4 f? iii&, As there is a lot of litter/ rubbish there 1
ﬁfT VA ;}%M]‘] 7{5‘71‘3 T 78 iﬁﬁid‘}’ 2R (therefore) we took part/joined 1
28 o a ‘Save/Protect the Environment’ group. 1
A, HATE9 Now, our park 1
AR EARIEZT is more and more beautiful. 1
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GCSE Chinese (Spoken Mandarin) Writing Foundation Tier — Question 1

You receive a photo from your Chinese friend via Wechat.

AM_ & *_ £l P

What is there in the picture? Write four sentences in Chinese characlers.

&l
=)
[o]1].[1] . fan
1t 11vaT £ BRFT o
[2 marks]
or.z . "
1 11 &8 yC .
.@ [2 marks]
d.E
iR T EA
[2 marks]
[o]1].[4a]

fr i1 oC BV

[2 marks]
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Foundation Tier

Marks will be allocated in the following way at Foundation Tier:

Communication Content Quality of Conveying Application of Total
language key messages | grammatical

knowledge of

language and

structures
Question 1 8 8
Question 2 10 6 16
Question 3 5 5 10
Question 4 10 6 16
Total 8 20 12 5 5 50

Question 01

For this question, students are required to write four sentences. Each sentence is marked according to
the following criteria. The maximum mark is 8.

[8 marks]
Mark Communication
2 The relevant message is clearly communicated.
1 The message is relevant but has some ambiguity and causes a delay in communication.
0 The message is irrelevant or cannot be understood.

The following indicative content is an example of the responses that students may give to this question.

2 marks 1 mark 0 marks
011 |feredm e, te 2 @ 8, "L, [2 marks]
01.2 M <8 K o8 T K, A, 7K [2 marks]
iX )L/ 2R WA .
01.3 K/i e XA YA 14° /N [2 marks]
0L4 |t i 2 IR Ao AR Ko AR [2 marks]
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GCSE Chinese (Spoken Mandarin) Writing Foundation Tier — Question 2
02 You are going out. Email your friend with the details.

Mention:
o Wwhere
o who with
o what activity

o what time you will return

Write approximately 30 Chinese characters. Respond to evefy bullet point.

74T 4 B R
i &
eE % g b %% 4
M Al K %ﬂ # Ef? “ \/ﬁaz
/214 ¥ & 1 IZLJ;/T@“‘“’“"’“MVJ
mw hw T ” Dz?@‘?

—
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Question 02

For this question there are four compulsory bullet points, which are assessed for Content (10 marks) and
Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The student is
expected to produce approximately 30 characters over the whole question. The number of characters is
approximate and you must mark all work produced by the student.

[16 marks]
Content
Level Marks | Response

5 9-10 A full coverage of the required information. Communication is clear.

4 7.8 A good coverage of the required information. Communication is mostly clear but perhaps
with occasional lapses.

3 5.6 A reasonable coverage of the required information. Communication is generally clear but
there are likely to be lapses.

5 3.4 A partial coverage of the required information. Communication is sometimes clear but
there are instances where messages are not conveyed.

1 1-2 A minimal coverage of the required information. Communication is often not clear and
there may be frequent instances where messages are not conveyed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Quality of language

Level Marks Response

3 5-6 Uses a variety of appropriate vocabulary and grammatical structures. Generally accurate.

5 3.4 Vocabulary and grammatical structures generally appropriate to the task, with some
attempt at variety. More accurate than inaccurate.

1 1-2 Vocabulary and structures used may be limited, repetitive or inappropriate. There may be
frequent errors.

0 0 The language produced does not meet the standard required for Level 1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Quality of language, but apart from that,
the Content mark does not limit the mark for Quality of language.
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GCSE Chinese (Spoken Mandarin) Writing Foundation Tier — Question 3

Translate the following sentences into Chinese.

He is not French. Fe.

M 7 2 B Ao

| have one dog and two cats.

# B - T4 %o FE meo ,

| like science because the science teachers are interesting.

jg ’NF %_. t'nl'trc_o’rbq/n

| go to the sports centre to swim.

. e
g == yon dorne Centesr
7/ u’

-

\'L'/'— N\ S
hi k.

il
N

| went to the park yesterday.

yi: 2 .V,£ E X s
1E &=

[10 marks]
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Question 03

The translation is assessed for Conveying key messages (5 marks) and Application of grammatical knowledge
of language and structures (5 marks), as specified in the criteria below. The maximum mark is 10. When
awarding the marks, the student’s response across all five sentences should be considered as a whole.

[10 marks]
Conveying key messages
Level Marks | Response
5 5 All key messages are conveyed.
4 4 Nearly all key messages are conveyed.
3 3 Most key messages are conveyed.
2 2 Some key messages are conveyed.
1 1 Few key messages are conveyed.
0 0 No key messages are conveyed.
Application of grammatical knowledge of language and structures
Level Marks | Response
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this tier.
Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages mark
does not limit the mark for Application of grammatical knowledge of language and structures.



AQAHY

GCSE Chinese (Spoken Mandarin) Writing Foundation Tier — Question 4.1
EITHER Question 4.1

3 You are writing about your education for your Chinese friend.
Mention:
e your school routine
e positive and negative aspects of your school
e a school trip you have been on recently

= your plans for the future

Write approximately 75 Chinese characters. Respond to every bullet point.

[16 marks]
1 %3!
s 1 chuan _
v > > |
# t & -1 % A i L—% o Ej: Yo

B dan skt K 0T K gy peu B B
F A%, T Ay oy + 1 E 4a T2 5
KL T Forgngpar . B T F% B IFT sde Y
i coro. P G 4 FUAR Pac ey Jp T & g
BER HND v wei gt Jj7 swicr 4E F &
ZR A 3 jermoe B & ,ﬁ‘%%’%%io
5 Zrr Nk e
A

.q:
IHT i # & =
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Question 04

For this question, there are four compulsory bullet points which are assessed for Content (10 marks) and
Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The student is
expected to produce approximately 75 characters for this task. The number of characters is approximate and
you must mark all work produced by the student.

Content
Level Marks Response
5 9-10 A very good response covering all aspects of the task. Communication is clear and a lot
of information is conveyed. Opinions are expressed.
A good response covering all aspects of the task. Communication is mostly clear but
4 7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.
A reasonable response covering almost all aspects of the task. Communication is
3 5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.
A basic response covering some aspects of the task. Communication is sometimes
2 3-4 clear but there are instances where messages break down. Little information is
conveyed. An opinion is expressed.
A limited response covering some aspects of the task. Communication is often not clear
1 1-2 and there may be frequent instances where messages break down. Very little
information is conveyed. There may be no opinions expressed.
0 0 The content does not meet the standard required for Level 1 at this tier.
Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at least some
coverage of all bullet points is evident, students will have access to full marks where the other criteria are met.

Quality of language

Level Marks

Response

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt at complex
structures and sentences. There are references to at least two different time frames,
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although these may not always be successful. There may be some major errors, and
more frequent minor errors, but overall the response is more accurate than inaccurate
and the intended meaning is usually clear. The style and register may not always be
appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of
the task. Sentences are mainly short and simple or may not be properly constructed.

1 1-2 There may be frequent major and minor errors. Little or no awareness of style and
register.
0 0 The language produced does not meet the standard required for Level 1 at this tier.
Notes

(@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart from
that, the Content mark does not limit the mark for Quality of language.
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GCSE Chinese (Spoken Mandarin) Writing Higher Tier Question 1.1

EITHER Question 1.1

- [II You are writing about your education for your Chinese friend.

Mention:

e your school routine m— ?

e positive and negative aspects of your school k

s a school trip you have been on recently
e your plans for the future

Write approximately 756 Chinese characters. Respond to every bullet point.

— [16 marks]

TR

= Y... %

2N T 3 R TTF X F PoomnAx ‘3.
Fxr NN 5 B T AKX x\ B2

X - Hafl%ﬂﬁ‘f@&mmcaﬁf#%@’?? ™
® W2 B S g AYE R A5 iR,
P e T N e Vi /L
sos ¥ AV T Fae v- 5 % 0F

B = BEIRNF. SXarmh - tIRS.

2 2R 5 T oAk T, 19 R oA M- S 43 ohy
A 7o, B A% 7 B A5 80N B 5 a B BR VA,

~_~
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A~

o R 5 4% B F A W, W

AR 8y TR w8 1o 0N % A% Th & A#3,

2 2x3e? R ZiazREaz

B 43ET ..

%%Tmﬁai‘& o o 7+ - e i T

%\ew\ri .22, = R 2 & Suenn Bever B W

B B IgI A "
PRIE AR £ D *m, 0 3D = 35 P[F)

P2 MG WD K. WD 5

r.(.'"‘:i

* B KA ?f Berendien E%EE)%’(L»?
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Higher Tier
Marks will be allocated in the following way at Higher Tier:
Content | Quality of Range of Accuracy | Conveying Application of Total
language language key grammatical
messages knowledge of
language and
structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60
Question 01

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 75 characters for this task. The number of characters is
approximate and you must mark all work produced by the student.

Content
Level Marks | Response
5 9-10 A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.
A good response covering all aspects of the task. Communication is mostly clear
4 7-8 but perhaps with occasional lapses. Quite a lot of information is conveyed.
Opinions are expressed.
A reasonable response covering almost all aspects of the task. Communication
3 5-6 is generally clear but there are likely to be lapses. Some information is conveyed.
An opinion is expressed.
A basic response covering some aspects of the task. Communication is
2 3-4 sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.
A limited response covering some aspects of the task. Communication is often
1 1-2 not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.
0 0 The content does not meet the standard required for Level 1 at this tier.
Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
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other criteria are met.

Quality of language

Level

Marks

Response

A variety of appropriate vocabulary is used. Complex structures and sentences
are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different
time frames, although these may not always be successful. There may be some
major errors, and more frequent minor errors, but overall the response is more
accurate than inaccurate and the intended meaning is usually clear. The style
and register may not always be appropriate.

1-2

The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be properly
constructed. There may be frequent major and minor errors. Little or no
awareness of style and register.

The language produced does not meet the standard required for Level 1 at this
tier.

Notes

(&8 A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart
from that, the Content mark does not limit the mark for Quality of language.
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GCSE Chinese (Spoken Mandarin) Writing Higher Tier Question 2.1

EITHER Question 2.1

. [1] You are writing an article for a Chinese lifestyle magzine. _
Mention: z%

= your opinion about healthy living
s amemorahle meal.
Write approximately 125 Chinese characters. Respond to both bullet points.

[32 marks]
M‘Z% X I #3 4
uh IR 1T £ % ﬁ 43 NP

.-}:-__E{::ih A A ’F // E N LA 8 Ak
AN 1Y~ =AY ™ Y= oo L = &'y V33 } A

12 2 %% ’% TR 'R B g ¢34y
2 B, 1) m@'m%_’ﬁai #3 03 TR ) oy 29
_ mcoiaosias. TP T #0)) xu BITR99 % « 8BS
e £ , M40 5 W B,
Bk 2 5 A3 B 4D 4w %0 Tk TR
1%’#3!7*' ;zle e 43, 3 P 3 TR 95 Lh 1,
HWLAR T A Y 4TA 43 8% TR,

o
-
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks), Range of
language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The maximum mark is 32. The
student is expected to produce approximately 125 characters over the whole question. The number of
characters is approximate and you must mark all work produced by the student.

Content
Level Marks Response
An excellent response which is fully relevant and detailed, conveying a lot of
5 13-15 information. Communication is clear with little or no ambiguity. Opinions are expressed

and justified.

A very good response which is almost always relevant and which conveys a lot of
4 10-12 information. Communication is mostly clear but there are a few ambiguities. Opinions
are expressed and justified.

A good response which is generally relevant with quite a lot of information conveyed.
3 7-9 Communication is usually clear but there are some ambiguities. Opinions are
expressed and may be justified.

A reasonable response with some relevant information conveyed. Communication is
2 4-6 sometimes clear but there may be instances where messages break down. An opinion
is expressed.

A basic response which conveys a limited amount of relevant information.
1 1-3 Communication may not be clear and there are instances where messages break
down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at least some
coverage of both bullet points is evident, students will have access to full marks where the other criteria are
met.
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Range of language

Level Marks Response

Very good variety of appropriate vocabulary and structures. More complex sentences

4 10-12 are handled with confidence, producing a fluent piece of coherent writing. The style and
register are appropriate.
Good variety of appropriate vocabulary and structures. More complex sentences are

3 7-9 regularly attempted and are mostly successful, producing a mainly fluent piece of
coherent writing with occasional lapses. The style and register are appropriate.
Some variety of appropriate vocabulary and structures. Longer sentences are

2 4-6 attempted, using appropriate linking words, often successfully. The style and register
may not always be appropriate.

1 1-3 Little variety of appropriate vocabulary. Structures are likely to be short and simple.
Little or no awareness of style and register.

0 0 The range of language produced does not meet the standard required for Level 1 at this
tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from that, the
Content mark does not limit the mark for Range of language

Accuracy
Level Marks Response
5 5 Accurate, although there may be a few errors especially in attempts at more complex
structures. Verbs and tense formations are secure.
4 4 Generally accurate. Some minor errors. Occasional major errors, usually in attempts at
more complex structures. Verbs and tense formations are nearly always correct.
3 3 Reasonably accurate. There are likely to be minor errors and there may be some major
errors, not only in complex structures. Verb and tense formations are usually correct.
2 5 More accurate than inaccurate. The intended meaning is generally clear. Verb and
tense formations are sometimes correct.
1 1 There may be major errors and frequent minor ones, and the intended meaning is not
always clear. There is only limited success with verb and tense formations.
0 0 The accuracy does not meet the standard required for Level 1 at this tier.
Notes

(@ A major error is one which seriously affects communication.
(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from that, the
Content mark does not limit the mark for Accuracy.
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GCSE Chinese (Spoken Mandarin) Writing Higher Tier Question 3

Translate the following passage into Chinese characters.

My mum drove me and my friend to a local museum last weekend.
Although the entry fee was very expensive, we had a good time, We had

lunch at the Italian restaurant opposite the museum. T am going to start my
new part time job next Saturday.
e e e

[12 marks]

EP B, S % FOR 4 40 AR
A0k % TR 409,
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Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum mark
is 12. When awarding the marks the student’s response across the passage should be considered as a
whole.

Conveying key messages

Level Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level Marks | Response
6 6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.

Reasonable knowledge of vocabulary and structures; more accurate than

inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this
tier.
Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages mark
does not limit the mark for Application of grammatical knowledge of language and structures.
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GCSE Chinese (Spoken Mandarin) Speaking
Foundation Tier Role-play
ROLE-PLAY 2 (FOUNDATION TIER)

CANDIDATE’S ROLE

Instructions to candidates
Your teacher will play the part of your Chinese classmate and will speak first.
When you see this — | — you will have to respond to something you have not prepared. When you see

this — ? — you will have to ask aquestion.

You are talking to your Chinese classmate about free time.

Say what type of music you like (one detail).

e Say if you like going to the cinema and why/why not.
o |

e Say what you do with your friends (one detalil).

e ? Ask your friend if he/she likes shopping.
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ROLE-PLAY 2 (FOUNDATION TIER)

TEACHER’S ROLE

e You begin the role-play.

e You may change the target language phrases given below only if the candidate’s response
makes theminappropriate.

¢ Remember that if you supply key vocabulary, candidates cannot be rewarded forit.

You must begin the role-play by using the introductory text below.

Introductory text: 3 A AR F] 52,

Ask the candidate what type of music he/she likes.
RERITHLAFR?

Allow the candidate to say what type of music he/she likes.
Ask the candidate if he/she likes going to the cinema and why/why not.

REREACRSD? A L2AER/FRER?

Allow the candidate to say if he/she likes going to the cinema and why/why not.
I Ask the candidate what sport he/she likes. (Elicit one detail).

R EA 23857

Allow the candidate to say what sport he/she likes.
Ask the candidate to say what he/she does with his/her friends. (Elicit one detail).

A I R —AL ERAMAT A7
Allow the candidate to say what he/she does with his/her friends.

fRFF 6

?  Allow the candidate to ask if you like shopping.

(Give an appropriate answer).
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Higher Tier Role-play
ROLE-PLAY 7 (HIGHER TIER)

CANDIDATE’S ROLE

Instructions to candidates
Your teacher will play the part of your Chinese classmate and will speak first.

When you see this — ! — you will have to respond to something you have not prepared. When you see

this — ? — you will have to ask aquestion.

You are talking to your Chinese classmate about your interests.
e Say what you did yesterday (one detail).

e Say what you like to do in the evening (two activities).

e Say what pop star you like and why.

e ? Ask your friend what type of music he/she likes.
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ROLE-PLAY 7 (HIGHER TIER)

TEACHER’S ROLE

e You begin the role-play.

e You may change the target language phrases given below only if the candidate’s
response makes theminappropriate.

o Remember that if you supply key vocabulary, candidates cannot be rewarded forit.

You must begin the role-play by using the introductory text below.

Introductory text: 3 A& AR FE] 5,

1 Ask the candidate what he/she did yesterday. (Elicit one detail).
RAERMT A 47
2 Allow the candidate to say what he/she did yesterday.

Ask the candidate what he/she likes to do in the evening. (Elicit two activities).
e £ — Ak SR AAT 4 ?

3 Allow the candidate to say two activities he/she likes to do in the evening.
I Ask the candidate to say what sort of films he/she likes.

RERFATLARR? A AT

4 Allow the candidate to say what sort of films he/she likes.
Ask the candidate which pop star he/she likes and why.

RERMATKE? HH A7
5 Allow the candidate to say which pop star he/she likes and why.
4& %: ‘B\‘?.: o

?  Allow the candidate to ask you about the type of music you like.

(Give an appropriate answer).
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Foundation Tier Paper 2 Speaking
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Candidate’s material — Photo card
To be conducted by the teacher-examiner

Time allowed: 7-9 minutes (+12 minutes’ supervised preparation time)

Instructions

¢ During the preparation time you are required to prepare the Role-play card and Photo card
stimulus cards given to you.
You may make notes during the preparation time. You must not write on this card.
Hand your notes and both stimulus cards to the teacher-examiner before the General
Conversation. You must ask the teacher-examiner at least one question in the General
Conversation.

Information

e The test will last a maximum of 9 minutes and will consist of a Role-play (approximately 2
minutes) and a Photo card (approximately 2 minutes), followed by a General Conversation
(between 3 and 5 minutes) based on your nominated Theme and the Theme which has not been
covered in the Photo card.

e You must not use a dictionary at any time during the test. This includes the preparation time.
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FOUNDATION TIER
Card E Candidate’'s Photo card
e Look at the photo during the preparation period.
e Make any notes you wish to on an Additional Answer Sheet.

e Your teacher will then ask you questions about the photo and about topics related to life at
school/college.

Your teacher will ask you the following three questions and then two more questions which you
have not prepared.

e What is there in the photo?

e What subject do you most like at school and why?

¢ What lessons did you have yesterday?
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Card E Teacher’s Notes

Theme: Current and future study and employment
Topic: Life at School/College

The maximum time for this part of the test is two minutes but may well be less than that for some
candidates.

Candidates may use any notes they have made during the preparation time.

You begin the conversation by asking the candidate the first question BRERHA?

You then ask the remaining four questions in order. You may paraphrase the questions provided the same
meaning is maintained, and you may repeat or paraphrase a question that the candidate does not
understand. You should allow the candidates to develop their responses as well as they are able. However,
do not go over the maximum time of two minutes for the questions and answers on the Photo card.

c BMAEZAMA?

o EFBRMRERMAR? HHA?
REER LT M 4R?

o RANIEA SV AN A2
o REFRBAT 2125)

Part 3 - General conversation

The questions on the Photo card are followed by a General conversation. The first part of this conversation
should be on the candidate’s nominated Theme and the second part on the remaining Theme from the ones
listed below. The total time of the General conversation should be between three and five minutes and a
similar amount of time should be spent on each Theme.

Themes for the General conversation

¢ Identity and culture
e Local, national, international and global areas of interest

Remember

It is a requirement for the candidate to ask you at least one question during the General conversation; this
can happen at any time during this section of the test. If, towards the end of the General conversation, the
candidate has not asked you a question, you must prompt this by asking the candidate in Chinese, ‘Is there
anything you want to ask me?’
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Candidate’s material — Photo card
To be conducted by the teacher-examiner

Time allowed: 10-12 minutes (+12 minutes’ supervised preparation time)

Instructions

e During the preparation time you are required to prepare the Role-play card and Photo card
stimulus cards given to you.
You may make notes during the preparation time. You must not write on this card.
Hand your notes and both stimulus cards to the teacher-examiner before the General
Conversation. You must ask the teacher-examiner at least one question in the General
Conversation.

Information

e The test will last a maximum of 12 minutes and will consist of a Role-play (approximately 2
minutes) and a Photo card (approximately 3 minutes), followed by a General Conversation
(between 5 and 7 minutes) based on your nominated Theme and the Theme which has not been
covered in the Photo card.

¢ You must not use a dictionary at any time during the test. This includes the preparation time.
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HIGHER TIER
Card G Candidate’s Photo card
e Look at the photo during the preparation period.
e Make any notes you wish to on an Additional Answer Sheet.

¢ Your teacher will then ask you questions about the photo and about topics related to
me, my family and friends.

Your teacher will ask you the following three questions and then two more questions which
you have not prepared.

o Whatis there in the photo?
e Describe which friend you get on best with.

*  What do you like to do at weekends with your friends?
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Card G Teacher’s Notes

Theme: Identity and culture
Topic: Me, my family and friends

The maximum time for this part of the test is three minutes but may well be less than that for some
candidates.

Candidates may use any notes they have made during the preparation time.

You begin the conversation by asking the candidate the first question RBAERMAAT

You then ask the remaining four questions in order. You may paraphrase the questions provided the same
meaning is maintained, and you may repeat or paraphrase a question that the candidate does not
understand. You should allow the candidates to develop their responses as well as they are able. However,
do not go over the maximum time of three minutes for the questions and answers on the Photo card.

« MK ZAHAA?

o EARAREYIFIN A ?

o MBARER A R —AHA A7
o IR EANZ A4 N A KT ARIL?

RTAE AR AR ZD? HAEA?

Part 3 - General conversation

The questions on the Photo card are followed by a General conversation. The first part of this conversation
should be on the candidate’s nominated Theme and the second part on the remaining Theme from the ones
listed below. The total time of the General conversation should be between five and seven minutes and a
similar amount of time should be spent on each Theme.

Themes for the General conversation

e Local, national, international and global areas of interest

e Current and future study and employment

Remember

It is a requirement for the candidate to ask you at least one question during the General conversation; this
can happen at any time during this section of the test. If, towards the end of the General conversation, the
candidate has not asked you a question, you must prompt this by asking the candidate in Chinese, ‘Is there
anything you want to askme?’
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Mark Scheme

Marks will be allocated in the following way at both Foundation and Higher Tier:

Communication Knowledge Range and Pronunciation, Spontaneity Total
and use of accuracy of intonation and and fluency
language language tones
Role-play 10 5 15
Photo card 15 15
Conversation 10 10 5 5 30
Total 35 5 10 5 5 60

Foundation Tier

Part 1

Role-play - Assessment criteria

There are 5 tasks for the Role-play, each of which will be awarded up to 2 marks for Communication. There

will then be an overall assessment of the student’s Knowledge and use of language in the Role-play. Up to 5
marks will be available for this assessment.

[15 marks]
For each task
Mark Communication
2 The message is conveyed without ambiguity.
1 The message is partially conveyed or conveyed with some ambiguity.
0 No part of the message is conveyed.
Notes

(a) Students who do not understand a question may show repair strategies in seeking clarification. If they
are then able to respond to the question successfully, they should be awarded the same mark as if
they had understood it originally.

(b) Where students are required to give two responses or details in one task, failure to convey an
unambiguous message in reply to one of them means that the message is partially conveyed and one
mark is awarded.

(© The tasks on the Candidate’s Card and the notes in the Teacher's Booklet clearly explain how much
detail the student is expected to give per task. However, some students may still go beyond the
minimum requirement of the task. When this happens, as soon as the task is accomplished, any further
incorrect information given by the student is ignored for assessment purposes, for both Communication
and for Knowledge and use of language.
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For the Role-play overall

Mark | Knowledge and use of language

5 Very good knowledge and use of language.

4 Good knowledge and use of language.

3 Reasonable knowledge and use of language.
2 Limited knowledge and use of language.

1 Poor knowledge and use of language.

0 No language produced is worthy of credit.

Role plays: additional guidance on application of the assessment criteria for Knowledge and use of
language

The guidance below is provided to describe the key features of a performance scoring each particular mark
and should be applied on the basis of a ‘best fit' approach. Further exemplification of this is provided on pages
6-8.

Minor errors are errors which have no bearing on effective communication.
At Foundation Tier

For a student scoring 5 marks, the language used is generally accurate but there may still be the occasional
minor errors such as minor word order errors which has no effect on communication.

For a student scoring 4 marks, the language used is generally accurate. However, there may still be minor
errors such as word order errors which have no effect on communication.

For a student scoring 3 marks, there are linguistic errors, some of a minor nature which have no effect on
communication, and others which are more serious such as more major word order errors and not using J or

iicorrectly for past tense. There may be a task which the student cannot complete because of a lack of
linguistic knowledge.

For a student scoring 2 marks, linguistic inaccuracy at times makes what is said ambiguous, inappropriate to
the task or incomprehensible. There may be tasks which the student cannot attempt because of a lack of
linguistic knowledge.

For a student scoring 1 mark, the language used is sufficient to convey a little information, but is generally
ambiguous, inappropriate to the task or incomprehensible. There may be tasks which the student cannot
attempt because of a lack of linguistic knowledge.
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Foundation Tier

Part 2

Photo card — Assessment criteria

The student’s responses to the five questions are assessed for Communication only, as per the criteria below.

[15 marks]
Level Mark Communication

5 13-15 The speaker replies to all questions clearly and develops most answers. He/she gives
and explains an opinion.

4 10-12 The speaker replies to all or nearly all questions clearly and develops some answers.
He/she gives and explains an opinion.

3 7.9 The speaker gives understandable replies to most questions and develops at least
one answer. He/she gives an opinion.

5 4-6 The speaker gives understandable replies to most questions but they may be short
and/or repetitive.

1 1-3 The speaker replies to some questions but the answers are likely to be short and/or
repetitive.

0 0 Communication does not meet the standard required for Level 1 at this tier.

Notes

(@) Atleast one question on each Photo card asks students to give and explain an opinion.

(b) Students who do not understand a question may show repair strategies in seeking clarification. If they
are then able to respond to the question successfully, they should be awarded the same mark as if they
had understood it originally.
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Level Mark Range and accuracy of language

5 9-10 Generally good language which involves mainly simple linguistic structures and
vocabulary, with some repetition, but with attempts to use more complex linguistic
structures and more varied vocabulary. There is some success in making reference to
past and future, as well as present, events. Although there may be errors they do not
generally impede comprehension.

4 7.8 Reasonable language which uses simple structures and vocabulary and may be
repetitive at times. Any attempts to make reference to past or future events may have
only limited success. There may be frequent errors, which may occasionally impede
communication.

3 5.6 Basic language which uses simple structures and vocabulary and may often be
repetitive. There is little or no success in making reference to past or future events.
There are likely to be frequent errors, which sometimes impede communication.

5 3-4 Limited language which uses very simple structures and vocabulary and is likely to be
repetitive. There is little or no success in making reference to past or future events.
There are likely to be frequent errors which regularly impede communication.

Very poor language which may show little understanding of how the language works.

1 1-2 There are likely to be errors in the vast majority of sentences, or there may be so little
said that it is impossible to make a judgement.

0 0 The language does not meet the standard required for Level 1 at thistier.

Level Mark Pronunciation, intonation and tones

5 5 Pronunciation, intonation and tones generally good but some inconsistency at
times.

4 4 Pronunciation generally understandable with some correct intonation and tones.

3 3 Pronunciation is understandable, with a little correct intonation and a few correct
tones and comprehension is sometimes delayed.

> 5 Pronunciation very anglicised with almost no intonation or tones, making
comprehension difficult at times.

1 1 Pronunciation is only just understandable with no evidence of intonation ortones,
making comprehension difficult.

0 0 Pronunciation, intonation and tones do not meet the standard required for Level 1 at

this tier.
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Level Mark Spontaneity and fluency

Generally good exchange in which the speaker shows some spontaneity, but also

5 5 relies on pre-learnt responses. Sometimes hesitates and may not be able to respond to
some questions.
Reasonable exchange in which the speaker shows a little spontaneity, but much of

4 4 what is said involves pre-learnt responses. The flow is often broken by hesitation and
delivery can be quite slow at times.
Basic exchange in which the speaker shows little or no spontaneity and relies heavily

3 3 on pre-learnt responses. The flow is broken by hesitations, some of them long, and
delivery is quite slow.
Limited exchange in which the speaker may show no spontaneity and all successful

2 2 responses may be pre-learnt. Hesitates frequently, and often at length, before
answering questions. Slow delivery means that the conversation lacks any flow.
Poor exchange in which the speaker hesitates at length before answering most

1 1 guestions, which makes the conversation very disjointed. Often cannot answer
guestions, while at other times there may be pre-learnt responses.

0 0 Spontaneity and fluency do not meet the standard required for Level 1 at this tier.

Notes

Students who do not understand a question may show repair strategies in seeking clarification. If they are then
able to respond to the question successfully, this will not have a negative impact on the overall mark, unless it
happens regularly and affects fluency.
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Higher Tier

Part 1

Role-play - Assessment criteria

There are 5 tasks for the Role-play, each of which will be awarded up to 2 marks for Communication. There

will then be an overall assessment of the student’s Knowledge and use of language in the Role-play. Up to 5
marks will be available for this assessment. [15 marks]

For each task

Mark Communication
2 The message is conveyed without ambiguity.
1 The message is partially conveyed or conveyed with some ambiguity.
0 No part of the message is conveyed.

Notes

€) Students who do not understand a question may show repair strategies in seeking clarification. If they
are then able to respond to the question successfully, they should be awarded the same mark as if
they had understood it originally.

(b) Where students are required to give two responses or details in one task, failure to convey an
unambiguous message in reply to one of them means that the message is partially conveyed and one
mark is awarded.

(© The tasks on the Candidate’s Card and the notes in the Teacher's Booklet are clearly explain how
much detail the student is expected to give per task. However, some students may still go beyond the
minimum requirement of the task. When this happens, as soon as the task is accomplished, any further
incorrect information given by the student is ignored for assessment purposes, for both Communication
and for Knowledge and use of language.

For the Role-play overall

Mark Knowledge and use of language
5 Very good knowledge and use of language.
4 Good knowledge and use of language.
3 Reasonable knowledge and use of language.
2 Limited knowledge and use of language.
1 Poor knowledge and use of language.
0 No language produced is worthy of credit.
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Role plays: additional guidance on application of the assessment criteria for Knowledge and use of
language

The guidance below is provided to describe the key features of a performance scoring each particular mark
and should be applied on the basis of a ‘best fit’ approach. Further exemplification of this is provided on
pages15-17.

Minor errors are errors which have no bearing on effective communication.

For a student scoring 5 marks, the language used is very accurate, although there may still be the very
occasional minor error such as a word order errors which have no effect on communication.

For a student scoring 4 marks, the language used is generally accurate. However, there may still be minor
errors such as word order errors which have no effect on communication.

For a student scoring 3 marks, there are linguistic errors, some of a minor nature which have no effect on

communication, and others which are more serious such as major word order errors, not using T or i

correctly for past tense and misuse of future tense. There may be a task which the student cannot attempt
because of a lack of linguistic knowledge.

For a student scoring 2 marks, the language used in relation to the tasks is ambiguous or
incomprehensible. There may be tasks which the student cannot attempt because of a lack of linguistic
knowledge.

For a student scoring 1 mark, the language used is sufficient to convey a little information, but is generally
ambiguous, inappropriate to the task or incomprehensible. There may be tasks which the student cannot
attempt because of a lack of linguistic knowledge.
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Higher Tier

Part 2

Photo card — Assessment criteria

The student’s responses to the five questions are assessed for Communication only, as per the criteria below.

[15 marks]
Level Mark Communication

5 13-15 The speaker replies to all questions clearly and develops most answers. He/she gives
and explains an opinion.

4 10-12 The speaker replies to all or nearly all questions clearly and develops some answers.
He/she gives and explains an opinion.

3 7.9 The speaker gives understandable replies to most questions and develops at least
one answer. He/she gives an opinion.

5 4-6 The speaker gives understandable replies to most questions but they may be short
and/or repetitive.

1 1-3 The speaker replies to some questions but the answers are likely to be short and/or
repetitive.

0 0 Communication does not meet the standard required for Level 1 at this tier.

Notes

(@) Atleast one question on each Photo card asks students to give and explain an opinion.

(b) Students who do not understand a question may show repair strategies in seeking clarification. If they
are then able to respond to the question successfully, they should be awarded the same mark as if they
had understood it originally.
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Higher Tier

Part 3

General Conversation — Assessment criteria

The General Conversation is based on the two Themes not covered in the Photo card. At Higher Tier, the
Conversation should last between five and seven minutes.

A zero score for Communication means that the mark in the other three categories must also be zero but,
apart from that, the Communication mark does not limit the marks in the other categories.

Level Mark

[30 marks]

Communication

5 9-10

A speaker who consistently develops responses in extended sequences of speech.
Narrates events coherently when asked to do so. Conveys information clearly at all
times, giving and explaining opinions convincingly.

A speaker who regularly develops responses in extended sequences of speech.
Usually narrates events when asked to do so. Almost always conveys information
clearly, giving and explaining opinions.

A speaker who develops some responses in extended sequences of speech.
Sometimes narrates events when asked to do so. Usually conveys information clearly,
giving and often explaining opinions.

A speaker who usually gives quite short responses but occasionally gives extended
responses. Occasionally narrates events briefly when asked to do so. Usually gives
clear information but lacks clarity from time to time. Gives opinions, some of which are
explained.

A speaker who tends to give quite short responses, but with occasional attempts at
longer responses. He/she has only limited success in narrating events. There may be
a few occasions when he/she is unable to answer successfully or where responses
are very unclear. Gives opinions.

Communication does not reach the standard required for Level 1 at this tier.

Notes

It is a requirement for students to ask the teacher-examiner a question in the General Conversation section of
the speaking test. Students who do not fulfil this requirement will incur a deduction of 1 mark from their mark
for Communication in this section. For example, a student who would have received 8 marks out of 10 for
Communication, had he/she asked a question, will actually receive a final mark of 7. There is no impact on the
marks awarded for the other categories for the General Conversation.
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Level

Mark

Range and accuracy of language

9-10

Excellent language with a wide variety of linguistic structures and a wide range of
vocabulary. References to past and future, as well as present, events are made
confidently. There are few minor errors and other errors occur when complex
structures and/or vocabulary are attempted.

7-8

Very good language with some variety of linguistic structures and a range of
vocabulary. References to past and future, as well as present, events are generally
successful. Any errors are only minor or occur when complex structures and/or
vocabulary are attempted.

5-6

Good language with some attempts at more complex structures which are usually
successful. References to past and future, as well as present, events are made and
are sometimes successful. There may be minor errors and occasional more serious
ones, but they do not generally impede comprehension.

3-4

Generally good language which involves mainly simple linguistic structures and
vocabulary, with some repetition, but with attempts to use more complex linguistic
structures and more varied vocabulary. There is some success in making reference to
past and future, as well as present, events. Although there may be errors they do not
generally impede comprehension.

1-2

Reasonable language which uses simple structures and vocabulary and may be
repetitive at times. Any attempts to make reference to past or future events may have
only limited success. There may be frequent errors, which may occasionally impede
communication.

The language does not meet the standard required for Level 1 at this tier.

Level

Mark

Pronunciation, intonation and tones

Consistently good pronunciation and mostly correct intonation and tones
throughout.

Good pronunciation and mostly correct intonation and tones with only occasional
lapses.

Generally good pronunciation, intonation and tones but with some inconsistency in
more challenging language.

Pronunciation, intonation and tones generally good but some inconsistency at
times.

Pronunciation generally understandable with some correct intonation and tones.

Pronunciation, intonation and tones do not reach the standard required for Level 1 at
this tier.




AQAHY

Level Mark Spontaneity and fluency

Excellent exchange in which the speaker reacts naturally to the questions asked and
5 5 has an air of spontaneity. Responds promptly and speaks with some fluency, though
not necessarily with that of a native speaker.

Very good exchange in which the speaker usually reacts naturally to the questions
4 4 asked and is often spontaneous. Usually responds promptly and there is some flow of
language.

Good exchange in which the speaker sometimes reacts naturally to the questions
3 3 asked, but may at times rely on pre-learnt responses. There may be some hesitation
before a reply but the delivery generally has a reasonable pace.

Generally good exchange in which the speaker shows some spontaneity, butalso
2 2 relies on pre-learnt responses. Sometimes hesitates and may not be able to respond
to some questions.

Reasonable exchange in which the speaker shows a little spontaneity, but much of
1 1 what is said involves pre-learnt responses. The flow is often broken by hesitation and
delivery can be quite slow at times.

0 0 Spontaneity and fluency do not reach the standard required for Level 1 at this tier.

Notes

Students who do not understand a question may show repair strategies in seeking clarification. If they are
then able to respond to the question successfully, this will not have a negative impact on the overall mark,
unless it happens regularly and affects fluency.





